Cardiac Functional Release Unit Paper Errata

Equation 3 - There should be a negative sign on the right hand side and the
factor Acgp in the numerator.
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Equation 6 - The last term should have a negative sign in front.
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Table 1 - alpha, beta, y, a,and b
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Table 2 -
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Table 3-Vmyo, PCa, and Acap

Vi =2.03x107 sl
Vi, =1.05x107° gl
Vi =47 x107° pl
[Ca® ]y, =0.1 uM
[Ca2+]NSR =800 xM
[Ca*], =1.8mM

7, =5.0ms

Tyer = 0.0007 ms
[Br]=47.0 M

K g = 0.87 M

[By 1=1124.0 uM

Kg =8.7 uM
[CSQN,,]1=15.0 mM
Keson =0.8 MM

F =96500 coul (mole™)™

T=310K
R=8.314Jmol* K™
=3960.0s™

=33.75x107* cms™

A, =4.47x107°cm’
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